B VCE & PDF https://lwww.geekcert.com/hp0-a100.html
' 2024 Latest geekcert HPO-A100 PDF and VCE dumps Download
: GeekCert.com

HPO-A1009%As

HP ArcSight Security Solutions

Pass HP HP0O-A100 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/hp0-a100.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

HP0-A100 PDF Dumps | HP0-A100 Practice Test | HPO-A100 Study Guide 1/3


https://www.geekcert.com/hp0-a100.html
https://www.geekcert.com/hp0-a100.html
https://www.geekcert.com/hp0-a100.html

VCE & PDF https://www.geekcert.com/hp0-a100.html
2024 Latest geekcert HPO-A100 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which statement describes a CIP?

A. A collection of packages to interface ArcSight products with ticket management systems
B. A suite of ArcSight resources focusing on system performance issues

C. A product that scales easily to manage extreme machine data across IT

D. A collection of ArcSight resources to monitor IT assets, based on regulatory requirements

Correct Answer: D

QUESTION 2

What is the major benefit of using ArcSight Connector Appliance?
A. Ability to detect common patterns on your network

B. Ability to configure, monitors, tune, and update Smart Connectors
C. Ability to perform correlation on raw data

D. Long-term storage of data

Correct Answer: C

QUESTION 3

Which resource used in the Workflow phase in the event lifecycle, .tracks either individual events or multiple related
events?

A. Reports

B. Stages

C. Query viewers
D. Cases

Correct Answer: B

QUESTION 4
Which statement is correct?

A. ArcSight Logger event schema is different from the ESM event schema
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B. ArcSight Logger receives events from Connectors rather than from raw events
C. ArcSight Logger cannot compress data.
D. ArcSight Logger must be used together with an ArcSight ESM

Correct Answer: B

QUESTION 5

For its correlation and automated event analysis capabilities, which ESM component is considered the brain of the HP
ArcSight SIEM platform?

A. web server

B. ESM manager

C. ESM console

D. CORR-E database

Correct Answer: B
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